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#include <iostream>
class A {
  static int _total;
  int _serial;
  A& _mine;
  A* _iKnow;
public:
  A() : _serial(_total),_mine(*this),_iKnow(this) { ++_total;}
  A(A& mine, A* iKnow) : _serial(_total),_mine(mine),_iKnow(iKnow) { ++_total;}
  void print() {
    std::cout << _serial;
    if(_iKnow != this) {
      _mine.print();
      _iKnow->print();
    }
    std::cout << '|';
  }
} ;

int A::_total = 0;

int main() {
  A a,a1(a,&a),a2(a,&a1);
  a2.print();
} ��� hBvY[{[�S�["S�[Wc
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~A() {  delete _iKnow;}

RSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSR
RSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSR
RSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSRTRTRSRTRSR

���-�&�I��

A �U� A �WV,X��-Y3Z�[D\ AL] �+^`_a
 A _+��bc\Gd3Y3Z+Z��`� @Ke Z��,f&\K�	Z A`e d3YgZ+Z��&� @ �h
 @ Y3[��I\%� dtor 
DV�b3�W�Z�i e �3Z+jI� ]-e V���
�Z+j	bc[%\D� A`e Z A`@ YD� A d3Y3Z+Z��`� @ Xk
-[ @l]-e V�Y3[%\-ZE�g\D_+�!m A a d3Y3Z�Z��`� @ � �on �+^pX�Z�q
�-q%�r^pY-\%�7
-Z+jIXs�	
D�h
E�!_t�3j+
%� �

a1 ]-e �gZ+Z��3
G�gZ���
G�3\E�!m��3Z e � � �W
P� @ ^&Z!X,\�� a1 d3Y3Z+Z!��� @ �� 
u^pm&_v�	\G�3j+jIZ @

�!B������w

= .3��)I2E$x)!�,��H3Q�2Ky1��H32K$s main – 24.-)!5/H-0I�FJL.3"l:-)!J&)!$`��Q� z�%)!0!0

int main() {
  A a,a1(a);
  a1.print();
}
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#include <iostream>
struct Node {
  int _data;
  Node *_next;
  Node(int data, Node* next=0) :_data(data),_next(next) { }
} ;

class List {
   Node *_head;
public:
  List() : _head(0) { }
  void insert(int data) {  _head = new Node(data,_head); }
} ;

int main() {
  int array[] = { 7,6,5,4,3,2,1} ;
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  List l1,l2,l3;
  l2.insert(17);
  for(int i=0; i<7; ++i)
    l1.insert(array[i]);
  l3 = l2 = l1;
}
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class L ist {
…
~List() {clear();}

  void clear() {
    Node *p;
    while(_head) {
      p= _head;
      _head = _head->_next;
      delete p;
    }
  }
…
L ist&  operator =(const L ist&  other) {
    clear ();
    Node **my=& _head,*his=other._head;
    while(his) {
      *my = new Node(his->_data);
      my = & ((*my)->_next);
      his = his->_next;
    }
    return * this;
  }

P"Q#RTS<UWV
A �����79>
��4�"�?823'-��6��
��4�5�6�	������
X���+*&�"3�
Y
7������
����Z
��+�������

class List {
private:
static int size(Node* p) {
    if(!p)
      return 0;
    return size(p->_next)+1;
  }
…
public:
int size() const {
    return size(_head);
}
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#include <iostream>
class A {
public:
  virtual void foo() = 0;
} ;

template <typename T>
class B : public A {
public:
  T _data;
  B(T data) : _data(data) { }
  virtual void foo() {
    std::cout << "[";
    _data.foo();
    std::cout << "]";
  }
} ;
class C: public A {
public:
  virtual void foo() {  std::cout << "I'm C"; }
} ;
int main() {
  A **array = new A*[3];
  array[0] = new B<C>(C());
  array[1] = new B<B<C> >(*(B<C>*)array[0]);
  array[2] = new B<B<B<C> > >(*(B<B<C> >*)array[1]);
  for(int i=0; i<3; ++i)
    array[i]->foo();
}
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array[1] = new B<B<C> >(*array[0]);
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#include <iostream>
class Barnash {
// ' ���(
�)&$*�
�  
} ;

int main() {
  Barnash b1(“Uzi” ),b2(“Yoda”),b3(“Zalman”);
  (b1 >> (b2 >> (b3 >> std::cout)));
}
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class Barnash {
  char* _name;
public:
  Barnash(char* name) : _name(name) {}
  std::ostream& operator>>(std::ostream& os) {
    return os << _name;
  }
};
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#include <iostream>

template <typename T1=int, typename T2=double>
class A {
public:
  T1 _d1;
  T2 _d2;
  A(T1 d1=T1(), T2 d2=T2()): _d1(d1),_d2(d2) { }
} ;

template <typename T1,typename T2>
std::ostream& operator<<(std::ostream& os, const A<T1,T2>& a) {
  return os << '(' << a._d1 << ',' << a._d2 << ')';
}

int main() {
  A<> a1(1,2);
  A<A<> > a2,a3(a1);
  std::cout << a1 << a2 << a3 << std::endl;
} S +��-,��T�������	���
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typedef int*  Ptr;
int main() {
  int i1 = int(); double * i2 = new double(); Ptr i3 = Ptr();
  std::cout << i1 << ' ' << * i2 << ' ' << i3 << '\n';
}
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template <typename T1,typename T2>
std::ostream& operator<<(std::ostream& os, const A<T1*,T2*>& a) {
  return os << '(' << *(a._d1) << ',' << *(a._d2) << ')';
}
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int main() {
  A<> a1(1,2);
  A<A<> > a3(a1);
  A<A<>*, A<A<>,double>* > a4(&a1,&a3);
  a1._d1 += 2;
  std::cout << a4 << std::endl;
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a3 � a1

B3D ]E�#� F [ �N� G ��c&��^ D�`da#F a4 ��]E��� F �� D c�^�]�� I [ �?��e&�f�hg F � D ]N�Hi I e�����j F g�� Ik" a3
[ G�l [m[ � l a4

[ G ^Sg G(D6I � F
n�$OB ��^ F �!om� l"�B3D�G�D ��c F�B3D ^ D�`da#F � B3Dqp A [ �Hr l ��e&�(� I i3�f�3�s� D�I)D c I i

-�+N	�:JQN/(5#T
Template

	�-���4(.�56-7�8:&�&P3=t	�-�=H�6��	�=t	3=H�6-�P�=��#�H��:J.��&9u;H>M�O�MA�/W9v/X�8-�=#�69 � �N:�>��U :J	�-��w���x��4J�&P3�1P3-7�&� � �
	3�t	��Y/(.�=��

��LJ�y d"%$&K
� �H�N/)� Template 2 �1	���4(.�56-7��	3��;����x��P3-�=t	H>xA

template <typename T1, typename T2, typename T3>
void foo(A<T1**,A<T2,T3*> > a) { }

� 	3-��6�N�z;���5693= main 2 �1	���4(.�56-7�O	��
 

int main() {
  foo(A<int****,A<int*,double**> >());      //1
  foo(A<A<>**,A<A<>*****,int**> >());  //2
  foo(A<A<int**>,A<float,float*> >());       //3
}
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1.__________________________

2.__________________________

3.__________________________
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1. T1 = int**,  T2=int*,  T3 = double*

2. T1 = A<int,double>, T2 =A<int,double>*****, T3 =int*

3. Compilation error.  A<int**> does not match the pattern T1**

 

 


